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FEmILFH/NER (FETEHEEE618%EH)
BES EBYMX5n BEXS % | BE£FA | FRAEEEM2) &
M-1%R& #Bmar o) —hE 3| $53.03 1,203
11-2|11%R& BHav o) —rE 3| S54.02 2,196
M-3R & #Bmar o) —hE 3| $56.01 696
11-4|11R&E gZHav o) —rE 1| S56.01 43
11-6[#k& #Bmar o) —hE 3| H16.03 144
11-711R& gZHavo)—rE 2| H16.03 287
11-8|thig - AEEMEEE |V —E 2| H16.03 431 |Hhigh EHEE
11-9|1& gEpar o) —hE 3| H16.03 1,826
14-01 |1 & BEZTDME 1| S56.08 N7 -VEKRE-ERT
14-02| & BHEZTOMhE 1| S$56.08 57|17 -VEE
15-01(#%& BEZTDME 1| H02.03 48
17 |EREENS BHEZTOMhE 2| H12.12 1,252
18 |1R& SBFav o) —hE 1| H12.11 10|7-VERMEE
19-01|8& gEar o) —rE 1| H29.03 161|{ABZAE
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A BTEMIREPER(FETMEREARTAILSHEM)
BES EBYMX5n BEXS % | BE£FA | FRAEEEM2) &
1-1|&E #Bmar o) —hE 3| $45.03 1,500
1-2|11%R& HEZTOME 1| H08.09 4
2-1|1R& #Bmar o) —hE 1| S45.03 295
22| E HEZTOME 1| S54.04 4
5 [%& BETOME 1| S45.10 260|$:fiT=F
7 |BEREENS HEZTOME 2| S52.03 318
11 [RE HEZTOME 2| H04.03 197|830 =E
12 |ENEENS BHEZTOMhE 2| S52.03 911
13 | K& BEar Y —hE 1| H07.05 NI T—ILFHEHE
14 |ER = BHEZTOMhE 2| H08.12 195
16 [WR& K& 1| H24.01 312
17 |B& BHEZTOMhE 1| H24.01 14
18 |1& BEZTOME 1| H04.03 150|EfE =
Hi 4277
B FEWMILABEGER(FETHREE1611%FiH)
BES BYMX5S BEXS % | BE£FA | RAEEEmM2) e
1MRE gEpar o) —hE 2| S47.03 1,411
12-1|%R& BEpar Y —hE 3| s47.10 1,168
12-2|11& gEpar o) —hE 2| H06.09 18
12-3|#%& BEZOME 2| H06.09 6
16 |1R&E BEZTDME 1| S48.03 54((ABHREH
19| EREES BEZOME 1| $63.03 176|&15815
21| RE BHEZTOMhE 1| S63.09 6|7RTE
22-1|EREE)S Aoy —rE 2| H18.02 1,153
22-2| EREENIS BHEZTOMhE 2| H18.02 17
23 &E BEpar Y —hE 1| H21.01 10(F— Lt B
24| & gEpar o) —hE 1| H21.01 25| 7 — )Lt B
25| & K& 1| H23.11 140 | B fiT4E
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